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Multiplicacion (Vertical) Nombre:
Resuelve cada problema. Respuestas
) 2,288 2 4,028 3 9,606 4) 4,505 X
X 6 X 2 X o) X 4 '
2.
3.
4.
5 2,727 6) g§,222 ) 5,062 8 4,117 i
X 6 X 5 X 4 X 6 '
6.
7.
8.
9 8,129 100 1,362 1) 3,057 12)  g.835 .
X 5 X 3 X 6 X 6 '
10.
11.
12.
13 6,150 14) 7213 15 5,370 16)  g.842 .
X 4 X 4 X 5 X 9 '
14,
15.
16.
1) 2901 18) 4,915 19 9,046 200 2340 .
x 6 X 8 X 6 X 4 '
18.
19.
20.
,y 1-10 195(90(85|80| 7570|6560 |55 |50
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Multiplicacion (Vertical)

Nombre: Clave De Respuestas

Resuelve cada problema.

) 2,288
x 6

13,728

5 2,727

16,362

9 8,129

40,645

13 6,150

24,600

1) 2901

17,406

2)

6)

10)

14)

18)

4,028

X 2

8,056

8,222

41,110

1,362

4,086

7,213

28,852

4,915

39,320

3 9,606
X 9
86,454

) 5,062

23,848

1) 3,057

18,342

15 5,370

26,850

19 9,046

54,276

4)

8)

12)

16)

20)

4,505
X 4

18,020

4,117

24,702

8,835

53,010

8,842

79,578

2,340

9,360

10.

11

12.

13.

14.

15.

16.

17.

18.

19.

20.

Respuestas

13,728

8,056

86,454

18,020

16,362

41,110

23,848

24,702

40,645

4,086

18,342

53,010

24,600

28,852

26,850

79,578

17,406

39,320

54,276

9,360
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